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1. Given:

	Activity
	Predecessors

	A
	None

	B
	None

	C
	None

	D
	A,B

	E
	B,C

	F
	D

	G
	E,F


Draw the network table for this project.  Be sure to show the start and end node.

2.  Given:

[image: image1.png]Problem 1




Activity
Time (Days)

A

5
B

3
C

4
D

1

E

4

F

3
G

2

In each node, you MUST show EST, EFT, LST, LFT, SLACK TIME.  You must also indicate the total duration of this project.  You must also indicate the critical path.

Draw a new picture.  Do not use the picture above.   

3.  Given:
	Activity
	Time
	EST
	EFT
	LST
	LST
	Slack

	A
	5
	0
	5
	0
	5
	0

	B
	6
	5
	11
	6
	12
	1

	C
	2
	5
	7
	16
	18
	11

	D
	9
	5
	14
	5
	14
	0

	E
	9
	11
	20
	12
	21
	1

	F
	3
	14
	17
	18
	21
	4

	G
	7
	14
	21
	14
	21
	0

	H
	4
	14
	18
	18
	22
	4


Assume the cost per week for A, B, C, G, H is 1.
Assume the cost per week for D is 2.

Assume the cost per week for E is 3.

The cost for week 1 of F is 9, week 2of F is 8, week 3 of F is 7.
(a) Develop an EST budget.  Show cost per week as well as cumulative cost. You may not need all the rows and all the columns.

	Activity
	Wk

1
	Wk

2
	Wk

3
	Wk

4
	Wk

5
	Wk

6
	Wk

7
	Wk

8
	Wk

9
	Wk

10
	Wk

11
	Wk

12
	Wk

13
	Wk

14
	Wk

15
	Wk

16
	Wk

17
	Wk

18

	A
	
	
	
	
	
	
	
	
	
	
	
	 
	
	
	
	
	
	

	B
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	C
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	D
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	E
	
	
	
	
	
	
	
	
	
	
	
	 
	
	
	
	
	
	

	F
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	G
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	H
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	Total 
For Week
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	Cumulative
Total
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


Develop an LST budget.  Show cost per week as well as cumulative cost. You may not need all the rows and all the columns.
	Activity
	Wk

1
	Wk

2
	Wk

3
	Wk

4
	Wk

5
	Wk

6
	Wk

7
	Wk

8
	Wk

9
	Wk

10
	Wk

11
	Wk

12
	Wk

13
	Wk

14
	Wk

15
	Wk

16
	Wk

17
	Wk

18

	A
	
	
	
	
	
	
	
	
	
	
	
	 
	
	
	
	
	
	

	B
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	C
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	D
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	E
	
	
	
	
	
	
	
	
	
	
	
	 
	
	
	
	
	
	

	F
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	G
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	H
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	Total 

For Week
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	Cumulative

Total
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


4. Given:

	A
	B
	C
	D
	E
	F
	G

	1


	Activity
	Budgeted Cost
	Percent Complete
	Actual Cost
	Value of Work Completed
	Actual Cost 

Minus Value of Work Completed

	2


	A
	20,000


	100%
	26,000


	
	

	3
	B
	12,000
	100%
	15,000


	
	

	4
	C
	28,000
	60%
	27,000


	
	

	5
	D
	25,000
	75%
	30,000


	
	

	6
	E
	10,000
	30%
	11,000


	
	

	7
	F
	8,000
	60%
	4,000


	
	

	8
	G
	12,000
	0%
	0


	
	

	9
	H
	10,000
	0%
	2,000 *


	
	

	10
	TOTALS


	
	
	
	
	


H required an advance deposit.

Fill in the last 2 columns of the table.  Then, determine if the project is OVERBUDGET or UNDERBUDGET.  
Write the EXCEL formula needed to compute cell F6.  .

Write the EXCEL formula needed to compute cell G6. 
In the following questions: if a situation is impossible, explain why.  

5. Given the following information for node X:   EST = 4, EFT = 12, LFT = 15   

What is the DURATION of node X?

What is the LST of node X?

What is the slack of node X?

Is node X on the critical path?  Explain why or why not.

6. Given the following information for node X:   EST = 6, EFT = 9, LST = 4  

What is the DURATION of node X?

What is the LFT of node X?

What is the slack of node X?

7. Given the following information for node X:   EST = 5, EFT = 9, LST = 8, LFT = 11  

What is the DURATION of node X?

What is the slack of node X?
8. Given:

	ACTIVITY
	NORMAL

DURATION
	NORMAL

COST
	CRASH

DURATION
	CRASH

COST
	  CRASH       COST       PER       WEEK  


	A


	6
	3,000
	5
	8,000


	

	B


	5
	5,000
	3
	6,000


	

	C


	9
	7,200
	7
	8,800


	

	D


	4
	3,600
	2
	5,200


	


Fill in the CRASH COST PER WEEK COLUMN. Show work.  

9. Given:  There are two critical paths in your network.   A - C - E – H   and    A – B – E – G

Here are the weekly crash costs

A – 900


B – 180

C – 200

D – 150

E – 150

F -- 100

G – 700

H – 350
None of these activities can be crashed by more than ONE week.

Which node(s) would you choose to crash this project by 1 week?  Why?  

Assuming you crashed the project by ONE week and both critical paths remained the same.  Remember, the activity(s) you chose in the first part of the question can not be used again.  Which node(s) would you choose to crash this project by another week?  Why?  
Assuming you crashed the project by ONE week and both critical paths remained the same.  Remember, the activity(s) you chose in the previous parts of the question can not be used again.  Which node(s) would you choose to crash this project by another week?  Why?  



























































































